
Calculus II

Asymptotes 

Show thatasymptote of the cubic

curve

-xy" -2ay +2x-y-1 =0 Cutthe

curve inatmost three pointswhich

lies on the line3x-y-1=0



Sol Given Curve is
-

x-xy2 - Gky +2x - y - 1 =0

x =1y =m.

d,(m) =1 - m2

dc(m) = - 2m.

&, (m) =1 - m.

Put&,(m) =0



1 - m2 =0

( - m) (1 +m) =0
m = -1, 1.

6 --
=- (-2m)
- -1.

- 2m.

C = -1.



Asymptotes are

y =mx + c

form=- y =-x
- 1

y +x +1 =0

form=1. y =x - 1

x -y - 1 =0

Also Asymptote parallel toy-axisisx =0



Asymptotesare

x =0 - D

x +y +1
=0 -2

x - y - 1 =0
- B

Multiply 0,1

x(x +y +1)(x - y - 1) =

(22 +xy +u)(x
- y - 1)



=

a- xcy-+nay-my2 - my

toy-my-a

- *
- xy- - qxy - x - W

lubtractw from given curve.

x-my-sky +2u-y-1 -+xyy+
Ithe

3x - y - 1. =0



=>Asymptotesbutthecurve inpoints
which lieson 3x-y-1= 0

No. ofPoints are n(n-2)

3(3 - 2) =b.

> Asymptotes but the surve in three

points which lies on

30 -y - 1 =0 Hence Proved
>
-


